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Rajasthan CET (Graduation) 27 Sept 2024 1st Shift Question Papér “

[ Which of the following options is arranged in descending order of their storage size? " '*¢ L !

TN 3 ST 35 TR B o R e e oraiidh (e A A e 7
(A)  Bit, MB, Nibble, KB (B) Bit, GR.KD.MB

et MB, KB, Byte, Nibble (D)  Nihl Wil i

(E)  Question not attempted / FRE wat

PARAM is a series of asscmbled in India by C-DAC
(A)  Micro Computer (B) M. ( omputer
(C)  Mini Computer 7( D) Sup o ¢ omputer 3
(E) ' Question not attempted ;
TH_ R saen @, R Rl g v d s R mm
(A)  HTER FIR (B) TR g
©) BritEaz Py e
- (B) raiawn ' ‘

Al5]

Which generation of computers uses Vacuum tubes for Circuitry and Magnetic drum of Memory?
(A) Third generation (B)
(C)  First generation (D)
(E)  Question not attempted

FEI A i T wfhedt o A g A & R e ogga o s e s 22

Fourth generation
Second genération

(©) : ; ?.'Hﬂ‘ﬂ?é’r
(E) Saiaws gl
a8 s = wad 39gw faeim wee g

(A) o= (B) g™
@f s (D) fm=
(E) rgafass

A i ae, g, A, v, A e g 8, a6t e R g @ san ear o
(A) T faw (B) &g
(C) Aegfatm (D) pifam
(E) rgafass ' ‘

#4 Zr @ e E

wYA - | ;T S A Al Bl
wYT- 11 : *§ T ITET] T A1 Bl
TR AT F ATen | g fawed § @ waifas sugw s

(A) A8 e, g @A 1 sad R (B) 13w R, g wum nwsr )
(C) @A 1 =11 51 6 8 (D) oA 1 30T 1) 2T st #

(E) @ufiaug

‘Deputation’ 7153 &1 fédl anATde 2reg -

(a) farg wvea fgfw (B) faenvea

(c) wfafagfe (D) fyw

(E) FaRa9q

S | ’

4

[ B.T.O.
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) A s _!»ﬁ_.."/,’ ‘ facts
. RE) . monl known facts,
‘~ Take the give two,statements to be true even if they seem to be at variance from com y |

which conclusion would follow on the basis of given statements?
Statements I: No Apple is Banana.

e

Somé Bah4 {as are grapes. V)

Conclusion II : 1. No App]cf}‘fre grapes. 0
1. All Apples are grapes is a possibility.

£.5%
In light of the above statem \ 8, choose the most appropriate answer from the options given Jbelow.
(A)  Both conclusion I and 11 follow. (B)  Neither I nor II follows.
(©)  Only conclusion 1 fojlqws.

(E)  Question not attempte

=l
R |
(D)  Only conclusion II followsi )

then decide

x ]
ST R T B o ) gy ®, W & 3 e 9 et ¥ A i 81 8, oTae 98 99 e & fr S ar
freed

ﬁquﬁmmmﬁmmﬁ? .

YT ; aﬁésﬁﬁa,#—nﬁ%‘f%l \ O @ ;j
FO I, SR < % o b

e . L =1 oft @, o §|~ . ;v.;
IL T 3, i R <6 s 3 by
ARG S e oes ER R ——— i
SR S e 1 e n st £B) qa’rlaﬂwﬁnagmﬁémj%l
(©) %ﬁaﬁ@ém@mﬁ | (D) éﬁﬁﬁ&ﬁénagmwmﬁu
(E) af@ws ‘ o

~ P
9 Anoop told Munna, “Yestegggy, I defeated the only brother of the daughter of my grandm:othe

r”. Whom did Anoop
defeat? T 0
(A) Son :52 (B) Cousin ;;\‘
(€. ‘Brother Y (D)  Father iz e B
(E)  Question not attempég :
39 3 g 9§ ‘wﬁﬂyfﬁwﬁgﬁ%mﬁuéaﬁmﬁaﬂaﬁg%ﬁ?&m il
(A) g i B) =Ry B~
(C) wEH APy farshs iy ~ ;,/fﬁ’
(E) SrgEiagy - ;Z‘Tﬁ- )bl
({n] e
) : M
10 If CAT =48, then MOUSE js equal to: 4,
afz CAT = 48 21, 41 MOUSE & sRIsiU %4 87 CRAT @
N (B) 138 W
(A) 148 { LV e 12
g8 4By 146 4 20 i
© 142 Ty pp—— i DN
(E)  Question not attemP__E,_,/ aa mo:g_( &
. —— . 3 SIS
11 A set of wires which carr le? a group of bits simultancously, that S, In parallel, and has ap f?s%ciated control scheme
is known as : s ¥~ )
(A) Bus b (B)  Registers e 25 3\2
(C) wires ;(: (D) data cables (%) S
i F > ' 2 130 \Q’
(E) Question not attempltc m 3 N -
e ard g % U e A stran A AR it N _ S
gﬁsﬁr@msﬂ . ammw&aﬁmwﬁmi * 9§ Sty ey PR
@A) T ol B) iy i 32 4
© @ ‘ P S v e (Ce
(B) rgufa A ve L&
3
Al15] sk
o [PT.o,
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sTT— Ashu gle Hitk

e Y
12 The name of the first Indian Satellite is : Q,—\Kl U‘[q—] qM ’\4 Sr

(A) Aryabhatt (B)  Kalpana

(C) Bhaskar-1I (D)  Insat-l 7\:“@‘ ‘tﬂ%

(E)  Question not attempted /

oI T e A R

P (B) e
(C) R (D)  FEel
(B) goRaws
13 Which part of the telephone device accepts voice and sends that information in the form of electromagnetic moves?
(A) Dialer (B) Mouth Piece }
(C)  Receiver e (a7 {D) Cable
(E)  Question not attempted S o . Yy 4
SRR ST T SIS Y TR Far & S 3 T P Ferege g et S #F o 2
(A) SR By A9y .
©) T - (D) FaEw
(E) i@ ws
14 Which one of the folloWing is not the mode of Social media?

(A)  Broadband (B) Blogging
(C) - Facebook (D) Twitter
(E)  Question not attempted

ﬁw%%aﬁﬁﬂqmmaﬁ%mwm (re) T 9

L e (®) it

C) %Egs ®) =

“(E) rguf@ws |

15 Who of the following space travellers born in India died j

N space shuttle of Columbia during ; turn |

| ' . sl uring its re i
@ TRim Kand:al | (B)  Sirisha Bandla e
(€)  Kalpana Chawla

(D)  Sunita Williamg
(E)  Question rot attempted

A Freifira ¥ o
(a4) g ®) Fq&mmmmﬁﬂ?ﬂ@néeﬂv
Oy~ T (D) T el
(E) 3rgdfaud
16 Rajasthan Agricultural Research Institute is situated at which of the f0110wing cities 2
(A) Jaipur (B) MOu.nt Abu
(C) Jodhpur (D) Udaipur

i ttempted
) et 1t e arec i e B
; &I q ML
e HY A

B) e
Lo T (D) mgrmL
©) ST
(E) FHrE A .

a15]

[P.T.o,

| .
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17 Ramganj Mandi, also known as coriander city, is situated near which of the following cities of Rajasthan
(A)  Sriganganagar (B) Kota
(©)  Jodhpur (D)  Udaipur
(E)

Question not attempted

T WY, For v S o v @ s s 8, PR i & T 3 fohe e 3 e Rera 82
(A)

ST By @
(©) SR (D) IR
(E) Srgaiaws
18 Ffaias el 8 ys forfaa v 2-
a. = b oM
C. L & i
)c‘ o
ﬁqmﬁmﬁ%wﬁaﬁmwaﬂwaﬁﬁq
&) Fadade B)
(C), Faeta 3 b (D)
mgﬂﬂﬁsm b, i
19 Wé@:mﬁmm%
a. qEdr b.
C. Tt d.
e. wigwar i
Hi g e foenedt # & waifaes Iugw I =5 fifv:
(A) Fade, dIM b (B), - ¥adc,d 3R a
© aﬁac,d?ﬂj’:e _ D) Fad a, b 3 e
(E) qui@yusd
20

e ¥ form arT=0a 3 TgEm f&d 3 it e 22
(A) TI=< 234

(B) T3 283

(C) R 343 AD) e 243

(B) TgurE A =
21 freiferfaa § @ o e fadeti 82

(A) TEH ®) e

© fasd D)  qEm

() afawd

22 Where is the famous Sikh Shrine ‘Hemkund Sahib® located?
(A) Sikkim Himalayas (B) Zansk
. ar Hj
(©) Garhwal Himalayas D) KllmaOn Hlmalayas g
(E) Question not attempted 'malayas
aftre; fora Tpesr B S Aifed Fet feem 82
(a) fafara femrera &)
fenrera SRRy fRvren
P ( ©) o
(B) wAufw@yq %Wm
A15] S 5

%éw SAhu gl

ade.

L, b v g

[ P‘T-O,
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23 Sewan, Dhaman and Karad are R
(A)  Types of grasses (B) Types of Rajasthani painting forms
(C)  Types of folk dances & (D) Desert soils £
(E)  Question not attempted"‘%j} 1<%
Ao, T 3R TR ME : ¥}
. eIy et 1 . :
Loy T N (B) T Rrsere (Ed%-q)i%uaﬁm
(©) i T6a % THR % D) T .
(B) gafaws e (D) qst =4
i) i)
24 1 B Vwi Y‘--Z
\I);/hlch country’s armed forces were awarded the coveted ‘Golden Owl’ award for their é;ixtstanding performance in
( ec 2023? (Choose the most appropriate option from below) G
A) SnL * ; . 4
© 1 rl;l iazmka (0 (B)  Singapore ;”Q
; % ’ D Chi .
" 1(;1{ %“Qaliestion not attempted;-gz (D) na ‘g}
T & J5 T S B feR 2023 3 6 seE wagh . ; A :
sqgiﬁﬁq,—quﬁ) g -; < %13% e IS Wﬁa‘gﬁr\ﬂ” 3 foraT &2 (ﬁqﬁgm
(&) s SREF2 - =
{1 - i B fﬁ’rn-q-(
© wa' /. /o (B) S 0 ,h,l?r-\
(B) SraRausy AL B @) < A’S)’N 3 K
, P -
25 Who was appointed o . . i
i Himl;PIZI:hel:i aS‘(he ﬁrst;;?man Chief Justice of Uttarakhand High Court? Lo
(C)  Ruma Pal z,% (B) Indira Banarjee ¥y
: g (D), Ritu Bahri h
(E) Question not attemptedi.“'%i : f\ﬂ
- 2 % Mg
STES 3= m'“_laﬂﬁm—«ﬁqﬁﬁ SN e e fohe s fovar mar 29 v
b T wwe 28 (g) . P
s SEREER] :
(C) wHIYA ©) g —
(E) SrguRawH .
XS ™
26 Which one among the followip?g,:is a “Fossil Park”™ o
. (A) Sariska 5 (B)  Ranthambhore ™
.7 7(C)s . -Akal Wood = x (D)  Keoladeo Ghang =~ “h
(E)  Question not attempted | O
Frerforfira 2 & - ol g 87 4
. (A) afeER (B)  Trmiy LN
(o FEEEE; , - (D) e g ™
. (E) Fguf@sd ¢
ki e e >~
’ b the Artificial Intelligence (A1) rel ects it A
27  Which of the following are n°‘,‘f‘f Artificial Intelligence (AI) re ated projects Initiated byythe Rajag
'l‘e!] (B) Audio Analytlcs i than Govemmentq
(A) UD )} bl (D) Revenue Intely 3 .
RajBOT b *’f elligence &Ahalytics
(B Quesion ot st v g o 7 SRR R SRR 1, ot ) e -
. W o " ‘) {5 ‘i v
ﬁ’ﬂﬁ#@'ﬁﬁﬁﬁ?ﬁmﬂ;w{ (B)  aiifea wif Wﬁmméﬁ
) 7, o1 & ' (D) T ikt 3 frsyey
(O ﬁaﬂaga MRV
(E) 6 — A
Al15] N
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28  Who amongst the following Indians has been recently selected for the ‘Goldman Environmental Prize 20247 @
(A)  Tulsi Gowda ' | (B) Rajendra Singh " ig6® ‘
(©) Ramesh Agrawal (D)  Alok Shukla : : ‘ - @
(E)  Question not attempted 7/‘0
T & | = 3 9 Frm wweltg o s vl gatetor g 20247 B I R?
(A gEEr e @) T=ERiE @
(C) THYI 7T (D) T AT
(B) -Iaiass .
29 Which of the following is the starting point of the Ram Setu in India? -~
(A)  Arichal Munai ) (B)  Shivaganga @
(C) Thanjavur Fes ' D) Madurai .
(E) Question not attempteﬁ @ c
s 3 P 3 & i T o R g 7 C >
(A) IREAIE py fraim : \eh
(©) T "), i @S'

31

32

33

Al5]

(E) 3gdi@

*A’ borrows a sum of X 2000 from his friend ‘B’ on 31 December 2011 on the condition that he will return the same
after one year with simple interest at 8% per annum. However ‘A’ gets into a position of returning the money on 1
July 2012. How much interest amount he has to pay to ‘B’?

A s i B @ 31 Rmmw 2011 H1% 2000 TR A  Forerht 7 & fo o e o AT 8% TRiep AT S & 3 AT 'S5
Ww%mﬁaauﬁﬁ1@%2012@WW%W%|W3&B@WW%W ' 2 6C°

(a) <100 @ 120

«©) <80 - @ 9 @-
(E)  Question not attempted / CENIGRE ‘ :

Rakesh spends 80% of his income. If his income is increased by 14% and saving decreases by 15%, then what will
be percentage increase in his expenditure?

THET ST 3T T 80% @< T 2l I ST 3T 14% & g STl B AT = 15% d 72

yitrera gfg gri?
(A) 22.25% B) 25%
(C) 20% @r  21.25%

(E) Question not attempfed / aﬁﬁﬁﬁ 9q

If ‘m’ is proportional to ‘0’ and m = 5 when n =4, then what is the value of m when n = 20?

Zﬁ:q,.m,-a‘nsmﬁqﬁﬁﬁ@m=5ﬁﬁ5n=4ﬁ,qan=20ﬁﬁammqﬁwm _ I
AT 25 (B) 20 %ﬁ ‘KS(\'\.si

(C) 28 (D) 225

(E)  Question not attempted / Frata 99

After Independence three states in Rajputana acceded to the Indian Union through the

' (B)  Access;
(A) Instrument of Inte.grat-:on e i
(C)  Instrument of Obligati (D) Instrument of AcceSsi(,neague
i d
E Question not attempte b
g:szaﬁmﬂm%qﬂmmgmﬂ%?ﬁﬂmﬁmwmﬁﬁ _ X
- RS (B ——— i TEd fy T
(A) THHT HATFR E:émmf‘ )
St ST SAifeer I RN Wﬁ"*\, ..
g Pr T 3% gy
() SFEaIq

7
N

\ " [PT.0,
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oductivity of
34  Which of the following is an institutional factor of agriculture which 1nﬂuences the p;:fm and pr ty

agriculture? O ‘0
(A)  Chemical Fertilisers ) (B)  Crop Insurance hod
(©)  Size of the holding of field{H (D) Topography gm
(E)  Question not attempted O\ _

ﬁq%r&aaﬁﬁaﬁwaﬁq-mmmm,ﬁﬁmaﬁrmaﬁwﬁﬁm%? N
L7 wrEfE s Ty " (B) wHa T o |

(C)  orefiey Y &% 1 STFR

!

: L (D) LN
® otz o W
R o

35 ‘Narma’ is associated with which {@P in Rajasthan? (C ‘—\—M

(A) Tea i‘\;‘; (B) Coffee W
©)- Jute o) (D) Cotton v i)
s (E)

Question not attempted o~

L)

T nwm‘ﬁ%amﬂwaf‘gg%v : PRGN
(A) =, i (B) =il 4

© E i = L)

(E) gaia sy =i

36 For the given sentence, choose the gm)st appropriate answer from the options below: [~
The language and style of a forma‘k tter is- Yo

(A)  very friendly ﬁ; (B)  polite and brief My

© 1ength.y oM (D) chatty N

(E)  Question not attempted 2 N

. 4 3

37 For the word given in Hindi, Choosg_gthe most appropriate word in English from the optioég:s;elow:
SELELE EEE : ' :

(A)  unacceptable P (B)  untenable v
(C) tenable O (D) acceptable b
(E)  Question not attempted ,.N..s :
AN U Yo : 3 ‘n
38 From which generatlon of computer the use of Integrated Circuits (C) started? 3
(A)  Third Generation i—-{ ' (B)  Fourth Generation ‘\3
(C)  First Generation Lﬂ . (D) Second Generation 3;*-}
(E)  Question not attempted 7 ')
‘ mﬁaﬂ#mmﬁsﬁﬁ%ﬂi%i(w@ ) T ST 7 ganr 2 el
m arad diet . [ (B) =eft dict
(C) Ut 9l (! (D) | I~
(E) TqaRasd L _ 0
Who describes Prime Minister asCanus inter pares” (First among equals) and “key ston,e af the Cabinet arch™?
39 o H. 7. Laski - (B) Munro N
(A) ' - (D)  Lord Morely
(C) Raunsary Muir L5}

|
(E)  Question not attempted 4 o

ot st 1 T S A m&ﬁﬁwﬁmﬁrﬁm)afﬁ T 3 e PR & afita Rram
qaH

o 9538
(A) TS (D)  iE et
€ TR

® T [ P.T.O.
A15]
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Who was the first Lokayukta of 'Rajasth ?
E an?

40
(A) Justice L.D. Dua
(C)  Justice Pratap Krishna Lohra (B)  Justice J.L. Gupta
(E)  Question Rt attempted (D) Justice S.S. Kothari,
TSI 3 SR ST A & ‘ 5
\ 2 fom
sifea et ry
Sl 33T ({e)
©) e Sl o e (B) AT T
E) mggf . (D) SReE I EACK]
41 at is the t : ,
" s ean‘VPf the Chairperson and Members of the Rajasthan Hugian Rights Commission?
(A ears or upto 65 years of age whichever is earlier 1
(B) 3 Years qrupto 65 years of age whichever is earlier
(C) 5 Years drzupto 70 years of age whichever is earlier i~
(D) 3 Years Oﬁ‘l}pto 70 years of age whichever is earlier (te)
(E) Question{@ot attempted 7}
TSR WIS TS SR LN L L Gy
5aﬁm65ﬁﬁﬁa@w@ﬁﬁéé_ (B) 33&m€5§%ﬁﬁ3ﬂgﬁ‘éﬁﬁﬂﬁéﬁ
(©) saﬁm7b‘-aﬁa?ramgama%ﬁqzéﬁ (D) Saémg%aﬁaﬁahgaasﬁaﬁq%@'ra‘f
3 i
(E) AR o i
42 Whoamong the following was the first woman Governor of the state.of Rajasthan?
(A) Prabha R},{;} B) Margretmva
©) Kamla ngi!wal (D) Pratibha&;%ti‘l
s 34 d - o
(E) Questlongot attempte : _ (8}
ﬁm%f@?ﬁ@z%%ﬂﬁrﬁqaﬁwq e o (RO A7y
=1 (B) WTRE AT
(a) T i () SR
© FEAEID : o
(E) aﬂ?lﬁ'ff i)
. : sot-T1: ‘ e
43 Match List-] th{tc%ls | List-II (Sginonyms)
Lisg] (Word) : e
1S4 . esteem (¥}
a  epsrov . ridiculods
b. honiobr - . achieve {4
c. 3bsg§: i V. chaﬁtabtéfg
bbmpls tions gi :
d. acoh ropriate answer from the options given below: ?4[
Choose the mostapp Lo @®) a-1,b-1Lc-1V,d-1
- Tana, c- ’ - III b '—':[V -
A) 2 IV’b[‘I’- v D) a-llLbpdv, e Ld-1I
©) a-1,b-1g5" ’dtcd \O
& Questiont attermP ™
(.j'. e anto of the word “Ancient” from below
44  Choose the mos[ﬁfiprﬂl’” 4B), Modem N
- (D)  Rough
Destroy ug
(2) il ¢! L6y
EE; Question gé‘t ﬂ“empwd 9 .
A15] ¥ [P.T.O.

oo o
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ions below:
45 For the sentence given, choose the most appropriate answer in rcportcd speech from the opt

Ravi said, “My mother is going to her home town.”
' /(/Kf Ravi sa1d that his molhcr was going to her home town,
"-L-“—'—-u
(B)  Ravi said 1111( his mother hnd gone to her home town.
L =
(C)  Ravi said that his mother will g £0 to her home town,
. v
(D)  Ravi said that his mother has gone to her home town.
(E)  Question not attempted

46 The Planning Commission of India was formed on
(A) I+ January 2015
(C©) 26" January 1950
(E)  Question not attempted
WIRE & ST SATENT &1 13 1 g1 o
(A) 159 2015
©) 265l 1950
(E) uitawy

(B)  2n October 1950
(D) © 154 March 1950

By~ 23T 1950
(D) 159T= 1950

47 Vergheese Kurien is known as the father of which revolution i in India ?

(A)  Green Revolution
(C)  White Revolution
(E) Question not attempted

TS FiET = R i ﬁsqmﬁré:m%mﬁamw%‘?

(B) Red Revolution
(D) Blue Revolution

(A) =@ :ﬁ;ﬁ (B) wfed () wify
©r & (D) e swify
(E) Imiauw

48 Which of the following is NOT a large scale Indust
(A)  Iron and Steel Industry
(C)  Jute Industry
(E)  Question not attempted

frefafed 5 & #m-ar v & geq

(B)  Cotton Textile Industry
(D)  Khadi and Village Industry

%ﬁwsﬁn#ﬁﬁ?(ﬁwﬁ%ml?fmﬁm;ﬁ)
(A) e 3R seard 32 (B) el T Jeiy

(C) 928 3=m By @l 3R e
(E) sigafaug

49 Chandoli was declared as National Park in 2004. 1t is loc
(A) Maharashtra
(C)  West Bengal
(E)  Question not attempted

2004 F <r=reft 1 T e At foran e 2w s 3w e i 0

ated in which Indian State?
B) | laryana
(D) Meghalaya

I i (B)  gfwmn
(C) ufemEme D) Aurery
o4
(F) g o
A15] R¢ [ P.T.O.

o T N ——— .




50
60% to 77%?
A A%
(&) West Be“g?; (B)  Andhra Pradésh
(C) Kerala : (D) Jharkhand g‘,“‘j
(E)  Question nz)z}ttempted (4
o o St fererrret 3 T e < AT i o e, A, o, ot A, e, . STRET S 60% JagER 77%
T 3 1 fordrass Ty femam : ¢4
. {-—-—q . »
(A)  dizm st L ® Pt Q..:y‘g
(C) & el oy e 143
(B) Saiaws v
51 Which of the folldwving articles empowers the parliament to legislate on any-matter enumerated in the state list in the
national interest, ilfhe resolution is passed by the Rajya Sabha with a 2/3 ‘majority of members present in the house
and voting? (Chods€jthe most appropriate option from below) {7
(A) Article 31235} (B) Article 3603}
(C) Article 54 od (D) Article 249@;
(E)  Question not-httempted . it
T g HEET aﬂ%ﬂﬁﬂﬁﬁt@ﬂ%ﬁﬁnﬂgjﬁﬁmﬁﬁ%@ﬁs{@ﬁmﬁﬂmﬂjﬁﬁﬂaﬁﬁﬂ%ﬂi 7
memﬁﬁmaﬂ?ﬁ A HaeE & 2/3 a@a%mmﬂ@@ww% (ﬁwﬁﬁaﬁ%wgﬁ%m
)
&) I3 ®) IR0,
(©) IR S . (D) TR 2494y
52 Among the followﬁé places in Rajasthan, where is the P(x;;})lola E::a:tiuatﬁ; J }\4 S\y\
; sd 4
(A) E‘;gf"ara cad ©) Ajmer 4 UK 1409 hy P
(©) ipur Ty . “
. nbt attempted i .
(E)  Question not 2 %ﬁﬂ%@aﬁﬁﬁ?ﬁwlﬁmaﬁﬁﬁ? o
ferefre (fergem) AT B) Fe
(a) HfEErE (D) I g
o B N e
(E) H@aﬁ—" AL e
P 3 . o
: isthan 1S ——— &1
53 The state bird of Rfjf g ¢ Indian bustard) . (B) BluelJay ;3
(A) Godawan (Ef - (D) Peacock o
(C) Indian ROller‘s d ‘3“";
(E) Question néfff‘“emp; L
mﬁzﬂrﬁaﬁﬂﬁfﬁ"m < ® s
g T e {Fe D) " t
© & If . \O
E) ¢ -4 ¢ Aravali Ranges is the highest? (48]
Which of the following peaks © (B) Kamalnath¢¥y
54 (A) Jagra h (D)  Raghunathgarh
-y y
Gurushlkhar ' s
©) ion not itempted ﬂﬂﬁgﬁ’rﬁi’rﬂﬁﬁ‘vﬁ%‘? 18]
Ques farail Gl
(E) jaren % T (B) wAATY |
st sl (D) TG
(A)
HE) I [P.T.0.
(E)
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Which st iBIV 1 - : )
state assembly passed a bill to provide reservation in state government jobs for SC, ST, OBC and EWS from
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55 ‘Kalisindh Thermal Power Project’ is located in which of the following areas of Rajasthan? (Choose the most
appropriate option from below)
(A) Barmer (B) Kota
(C) Jhalawar (D) Bikaner
E uestion not attempted :
Eﬁr&ﬁﬁm) Q mﬂmﬁqﬁq\wp ‘ﬁtﬂ%ﬁgﬁﬁﬂw%%ﬂéﬁﬁﬁmi’?(ﬁﬁﬁ@mmﬁ?ﬁ ferhea )
(&) =R (B)
O  TEETS (D) R
(E) gui@wy
56 Where is the archaeological site of “Civilization of Balathal” situated?
(A) Hanumangarh (B) Ajmer
(C) Vallabhnagar, Udaipur (D) Mount Abu, Sirohi
(E)  Question not attempted
ST TWIAT” 1 JUaed T et Rerg 29
(A) =quETg (B) TR
(L) TR, ISR (D) WSz e, Rl
(E) SIgui@ws
57 In which year Prithivi Raj III defeated Chandel Ruler of Mahoba?
(A) 1191 AD. (B) 1192 AD.
© 1181AD. (D) 1182 AD.
(E)  Question not attempted
5 e 2t st 111 3 e 35 e = ot s o
(A) ‘1191? AR e B) 1192%
. (©) 181 11828
b B TR W ¢ gt i

58 “Saheliyon ki Bari” a pbpular tourist destination in

Udaipur was built by
(A)  Maharaja Surajmal (B)  Maharaja Udaj Singh
(C) Maharana Shambhu Singh-I (D)  Maharana Sanigiom Singh - 11
(E)  Question not attempted : :
ST H T ierg, wies woe “wrferd i e Torah ST e e oy |
() (B) RN 3e Ry
(€)  TERTN I eI AB)  HERIT Ty R
(E) rgafayx _
59  In which year the Indian Government launched the New Economic Poljc ;
option from below) Y of India? (Choose the mOost appropriate
R §&FR mﬁﬁmﬁm%ﬁwwwwﬁam :
(A) 1990 (B) 1993 A
L) 1992 . (D) 1991
(E)  Question not attempted / 37Taft g

60 Who from the following has the primary responsibility of distribution
(A) Food Safety and Standard Authority of India (B)  Employee’s State Insurance
(C) Burcau of Indian Standards (D)

(E) Question not attempted Food Corporation of Indig
mﬁﬁmﬁlﬁﬂﬁﬁﬁm%ﬁmﬂdﬁg@qwmh |

(a) v T G AT r B)  wtenfeit vy sy

(C) TR HTR HET B) v e fm

(E) yﬂﬂﬂﬁ 94

12
a15]

of the food grains in Indja?

[ P.T.O.

e R s v e
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61 Which Union Ministry launched the ‘Swachh Sarvekshan 2023’ - Mera Shahar, Meri Pehchan’ survey s =

most appropriate option from below)
(A) Ministry of Jal Shakti

(B) Ministry of Tourism

(C) Ministry of Housing and Urban
(D) Ministry of MSME

Affairs (MoHUA)

(E) Question not attempted .
forg T 3 TS A 2023 - iy T e TR T waor sy e (ﬁﬂﬁﬁwﬁmﬂfﬁﬁw%ﬁ?
(A) o Ifh WA (B) T HATE
(w©r SraTE T TEd FE A (D) ., Td. . 3. HAed
() TaRa ¥¥
62 In Olympic 2024, India was at spot in the medals tally?
(A) 37 (B) 91¢
© 17 (D) T71*

(E)  Question not attempted
sﬁ?iﬁmzozﬁmqﬁmﬁmﬁ T W ET? .
91

(A) 379 (B)
© 1749 @ nd
(B) IgIRATH
63 Which state hosted Outlook Planet Sustainability Summit and Awards-20247
(A) Goa (B8) Tamil Nadu
& (D) Maharashtra

©) Rajasthan
(E)  Question not attempted e g ST 2024 PNENR SV

g T 1 TP !
> (B) aETE
?g e (D) TEZ
) AT

s is not true with regard to the Comptroller and Auditor General of India?

t
e President of India.

following statemen

which of the .
Yy The CAG is appoited bY th . ‘ -
a. CAG can be removed on the recommendation of the President of Inidia.
b. 26 Jlary and allowances of the CAG are charged on the consolidated fund of India.
es
The Tenure of CAG is fixed for five years.
. ¢ appro. priate answer from the options given below:

Choos€ the mos /2 1 (B) ab and d only

(A) b, ¢ aﬂ;i g 221;' (D) abandc only

© == ted . |

on not attemP Ay TETrETTeT o A W 87

(E) Quest! 3 fra®
oy A Tt T g o e &

erafafead F

a %’T(CAG)ﬁ%q%ﬂ(CAG)HﬁWWW%l
b, mﬁiquﬂii'aﬂqaﬁ(ﬁm?ﬁmﬁﬁﬁﬁﬁ:ﬁﬁﬁaﬁﬁl
gt
d. ggg@® II

ﬁmmWﬁaW 3 (B) ¥acTa,baMd

») Wb,cﬁj (D) Fada,balc

© ?;f;;ﬂ 13 |

® [P.T.O.

a15] K
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Which of the following provisions of the Indian Constitution deals with the appointment and dismissal of the Council
of Ministers? [

(A)  Article 747
(C)  Article 70
(E)  Questionot attempted

l*-m
(B) Article 75 O
(D) Article 72 (¥}

)
Wﬁaﬁﬂmuﬁmwaﬁqmwmaﬁﬁgﬁﬁaﬂrw@gﬁumﬁ
(A) I 4 (B) IFWITS
(©) I 103 (D) FIWI72 1)
(E) gaf@gx e

Complete the sentence by choosing the most suitable article from the options given below:

Please get me ! ~ umbrella when I go out shopping as the monsoons are appx%?chmg
(A) No Artidle!

(B) an
(C) the g (D) a )
(E)  Questiohhot attempted )
N

N
Complete the sentence by choosing the most appropriate preposition from the.options given below:
I reached the school the gates closed.

- L

(A) by - : (B) from =

(©) later (D)  before

(E) Questio:::&ot attempted r~

Diesel engine chfiverts energy from - (Choose the most appropriate o‘pﬁbn from below)
(A) Electric €nergy to sound energy (B)  Nuclear energy'to electric energy
(C) Chemicdl¥¢nergy to mechanical energy (D) Chemical energyito electric energy
(E)  Questioinot attempted - (]

SNAEA et Uit a1 (R § & el suges forerea ) o |

(A) TofREE ot & as et
(C) frra oot & wkfrEa sat
(B) srgefess

Choose the most“approprmte word from the given alternatives which bears the same relati

(B) mﬁﬁmmﬁ@ﬁgmmf
(D) e 3ot & goifes ot

onship with the third word,
as the first two bear. W
Mountain: Hill{*Tree: ? 48]
(A) Forest 3% (B) Rain (@)
(C) Leaf (% (D)  Shrub N

(E) Question not attempted

:ﬁ%ﬁqnqﬁwﬁﬁ%qzﬁz’w@%m%Wmm%mqﬁﬁﬁq?&ﬁm%mmwaﬁq
add: TETS: : Uil

v={
ST B
;g; P : (D) wfeal [
() TR ﬁ
d.ane out. "
o Z: 6?6 ) (B)  France N
© I(z(r)erZa C’\i (D)  Poland v
& Questio ?;pt attempted !
B Que :
E YT B)  wig
- o D) Yqide
(97 94
(E) y

[ P.T.O.
Y
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If H : . .
in a certain 'clqc_lle, Ois writtenas L, Aas H,MasI,SasF,NasT,Eas S, Ias A,PasGandCasE, then howW will

g;MPANIES_be written in that code?
SR RETOF L, AFIH, MH L SH F,Nas‘tT,Eﬁs,IﬁA,PﬁGqﬁcaﬁEﬁi@TW%ﬁﬁaﬁgﬁ

COMPANIES i && fer@r sme?
© Loaysosr 57 ELIGUTASF o
(©) I.LiSBSF * (D) ELGHITASF n - H
(E)  Question not attempted / Nﬂ'ﬁﬁ'ﬂ a4 m- 1
r
¢ - ‘s &
ﬁnﬁiﬁaﬁﬁﬁﬁa?ﬁanwaﬁwgﬁqahm%ﬁ:ﬁr&: n-T
(A) ' B) R e- €
ey =ed (D) @& .~ A
(E) Fuia ¥ : 1
p/
- G
the passage and answer questions 73 t0 76 : E cl L 4 H

“Stress”
makes life interesting, and keeps you on your toes.

All people have some stress in their lives. A little stress
nhealthy. You may find your life becoming stressful whenev Fthere are changes

too much stress can be u
lationships, or in the demands you put on yourself.
d by good things in your life, such as getting a new job, moving to 2 new place, or

However,
in your environment, in your re

Stress can also be cause
2 You will probably find yourself always feeling

getting married.
nough time to do everyting that you need to do.

How can you tell when your life is getting too “stressful’
rushed, as though you must hurry everywhere you go. There is never €

You may find yourself walking, talking, and eating more quickly than usual.
H
Besides causing emotional problems, stress can 1 also cause real pﬂs_ical problems.

in your life, you may suffer from stomach problems, hezidacheﬁf}]eck and .ShOQIQer—pz?in.

Prevention is the best way 10 deal with stress. First of all, be organized- there is no
Put your life and your surroundings (your home, apartment or desk at work or school) in order.
c. Stop putting things off. Do what needs to be done today. On the other hand, don’t always feel
right now. Learn to say “no” to activities and commitments that will only add more

n only do one thing ata time.

If you have too much stress

thing so stressful as a

disorganized life.
Don’t procrastinat

that you have to do everyting
stress to your jife. Remember that you aré only human, and that you ca '

Lcarh to relax. Slow down. Take 2 brealf ora wa]k .when.you feel yourself getting  stressed. Find a hobby that

] Reading, listening to music or creating sc.)methmg with your hands are all great ways;to bring some peace
you enjoy- .c. Learn 1O Jaugh at yourSelf and your life. Try to look on the bright side of life. Even when things seem
. hc;::kl;f:a stressful there is usually 2 place for some humor and a smile. —
pretty i
most appropriate option from below) ‘:D 17>) '\\ OCl!L Mbh)

stress? (Choos¢€ the

o parle PEF

What may =" 1o Yoga .
u do Yt¥e" ) .
(A) Wher you o on vacation with friends. (‘/d'-“‘q\"
When you & he demands you put on yourself.

(1(3?) When you make changes’in 1 u
ED)) when you relax and meditate
(E) Question pot attempte
: e f______-stressed out 7 (Choose the st appropriate option from below)
How 10 tell jf you? 10 volunteer oo many social work,
jme to
vou haveé 1ime B
i you are relaxed and take l:l-%h‘
o feel full of energy and) o e .
= o n short of time 10 y all Y ]
- youTrd :
( 250N not a!tcmplud
(E) Juc g
] [ P'T-O,
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What is one of the appropriate way to manage stress? (Choose the most appropriate option from below)
(A) Take on many assignments together.

(B)«. Do everything by yourself and avoid delegation of work.

(Q)¢y Plan and organise your work. z’;;
(D)ry Rush all the activities you do. o * . e
(EX%y Question not attempted - i’h

Choqse the most appropriate meaning of the idiom “to be on your t(jes” from the options below:
(AQ Take a'break

(CQ - Putting things off
(E) Question not attempted

(B) be al?:rt and ready for anything
(D) Loo_lg on the bright side

Brke Revoluhon in India was launched during the period : - i
(WYY 1985-1990 (B)  1990-1995
' 1975-1980 (D)  1980-1985
(E) Question not attempted ' <N
= et shife fore shrermafer | wroey it 7 <fte QY

(AS(_ T 1985-1990
(Cy | ®11975-1980
(By | ofgaf@ w

(B) ®1990-1995
(P ®11980-1985

v

Inpwhich of the following, Rajasthan is'the largest producer in the country? :

(A);3 Wool (B) Team;

(CB;'-) Wheat (D) Ricc::=

(E)3y Question not attempted #48 .
uﬁﬁﬁ%ﬂﬁﬁ:ﬁ%{?@ﬂﬁ@r%ﬂmwﬁﬁmm@ a;;
AT m ) (B) =m

(C;)j (D) ﬂl? ,Ei_

31:]?‘![1'3 94
(B3 el .
Whlch of the following dams of Rajasthan is for both xmgatlon and Hydroelectricity? (Choose the most appropriate
10n from below) e‘f
(A .:1 Me_la Dam (B) Jaw'ﬁi Dam
( 1 Ram Sagar Dam (D) Ra’iﬁ’- Pratap Sagar Dam

( i Question not attempted

iyt &mﬁ&ﬁmm%ﬁwﬁﬁéaﬁtwﬁgﬁaﬁ%mwﬁmmm%ﬂ (= 3 & ol swr

._ﬁa?‘é!q?{) . "
(A!)ﬁ Seattre ) 1 - (B) SEREY

& Tt ‘4P)  TOTWATT WA S

w’vf’ amongst the following famous artists, has represented Rajas‘ti{%n in the Bharat Utsav in ‘Bahrupia Kala’?
PSO

(B)  Jai Sing,h Rathore
Amar Singh Rathore
ECJ Jamna Lal Bhatt (D) Jankl Lal Bhand .
t attempted
“eggggma 3 WTCd Jead 7 e Fer ﬁmmmuﬁﬁfﬁaﬁ;m
ﬁﬁ’%‘@“ crg e B) it fefe s
(A4 FH el ¥ : Py SR e wie

® g@ﬂﬁ’d 94 16

[ P.T.O.
Al5] % -
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81 Match List-I with List-11
List-I (Chhatri) List-II (Places)
a. Chbhatri of Sawai?jgl Singh . Alwar
b. Chhatri of Musi R_?ni II. Ramgarh
c. Chbhatri of GopaléﬂS?i‘rlgh 111.  Gatore T ;
d. Sethon ki Chhatré N 1Iv. Karauli : I.
i1 3 | G-I forer HRE ey

geft1 T L) FEA-11 (FAT) lt
a. wimﬁ%ﬁagaﬁ 1. I ’E .
b, TR R L g 1
c v fie o oAl ) S A el

4 d&idwwad — L
Choose the most appropriate ansiver from th
ﬂﬁ%ﬁqmﬁﬁ‘ﬁﬁﬁmﬂﬁ%@ww;ﬁ
(A) a-1V,b-ILc-1,d- it

e options given below:

4By a-1,b-Ic-1v.d -1,

(©) a-Lb-Ic-MLd- 1\:“’* @) a-TMb-Le-1V.d- I,
(E) Question not attempted ’f':?ilgﬂﬁﬂ' A L
o
82 Who is famous as ‘Wagad Ki Meera’?
(A) Gavri Bai £ (B)  Panna Dhai i
(C) RanaBai ‘F} 4 (D) Karmawati
"(E) Question not attempted ;;‘
g <l HIT %m@raﬁqm?
g TR el B) T
(C) TSR 1) (D)  =FHiaT
(B) IFIRIATH

83  Kattha is extracted from the inner, wood of which tree?

(A) Khair tree
(C) Kultree s
(E) Question not attempted £33

mﬁ.aqaﬁ;mﬁaﬁ@rm%mm%?

i (B) Mulberry tree-

g (D) Kusum tree

/5" 3

A TS ?‘;;% (B) WEEiIe
£ £4 ~
© FAI ot @) TS
(E)y SAgai@Tq o
g4  Which of the following rivers ishe largest tributary of Indus river?
(A) The Chenab (i (B)  The Jhelum

(C) The Satluj Oy (D) The Beas

(E)  Question not attempted &

!
(ptemget # 82

(A) ™ o @y dem
(€ TG ' (D) =Ty
(B) IR TA

| 17

Als] 3
.. [ P.T.O.
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85 In the fourth phase of integration of Rajasthan, which four princely states merged into, Greater Rajasthan?
(A)  Alwar, Bharatpur, Dholpur, Karauli (B) Jaipur, Jodhpur, Blkaner J ansalmer
(C) Kota, Tonk , Bundi, Jhalawar (D)  Pratapgarh, Dungarpur, Kishangarh, Shahpura
(E)  Question not attempted '
TSTEAT o THHTT o e =07 H Fort = Pt o1 sy Trereer 8 forema gomm?
(A) ST, WA, WY, FA ABY" ST, S, s, St
(C) e, I, I, TS (D) TG, ST, YA, TEqT
(B) rgui@ud
86  When did Netaji Subhash Chandra Bose proclaimed the setting up of the provisional-government of free India :
Singapore?
(A) 237 October 1943 ‘ (B) 24t October 1943 .
(C) 21 October 1943 (D) 220 October 1943 r
(E) Question not attempted
“yerrsft T =% S R e v o et (SfersreT) TThT Y TemeAT Y e R T AT ofi?
(A) 23 IETST 1943 : By 24 AT 1943
(C) 21¥RE1943 . . (D) 22 TR 1943
(E) [aia o
87

Choose the correct statements from the options given below:

a. The British Parliament passed the Indian Independence Act on July 05, 1947
b. This Act was based on the Mountbatten Plan.

C. The Act got royal assent on August 10, 1947.

d.

(B) Hadb,c3Rd
(D) Faa,b3Td

The Act was implemented on August 15, 1947. — C\
Choose the most appropriate answer from the options given below: Sl : XY\
(A) . ac and d only (B) b,canddonly ﬁ/\g' _
©) a bandc only (D) ab and d only NM -
—(E) Question ot a’ttempted
ﬁmmﬁwﬁﬁﬁaﬁ aﬁa’-ra'ir e
\ a. %ﬁﬂmﬁosaaré 1947aﬁwrtcﬁmaaamsﬂjﬁwmﬁaﬁm|
. f uﬁaqﬁqﬁwmazézqaﬁrmmmmw
C o SR 10 s, 1947 1 T wheh s Y
T g fufEe (o) 15 SR, 1947 Fam R fer e
:ﬁ—;r ﬁqnqﬁéh?ﬁ 7y mﬁﬁwmw CE
(A) Fada,c S
i r t(c) Fada, b3 c
agﬂfta 94
"oy
88 Who declared “the s;.atus of women should also be raised and women should be trained to take a larger ang =
intelligent interest in public affairs” at the Maharashtra Provincial Confe‘rence in May, 1928?
(A) Subhash Chandra Bose (B) Bhagat Singh .
©) Mahatma Gandhi 5 (D) J.L.Nehru
not attempte -
(B)  Question noLemBe 3 et e 1 e 6y o e T <R s et s
?;Tgﬁmmaaﬁaﬁaﬁmgﬁmmmm | |
: e Ll (B) a fiw
(A) TM et (D) . uel. Ew
&Q‘ HeTcHl

18 (T
Al51] Y
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g0  The length of a cold storage is double its breadth. Its height is 3m. The area of its four walls (including the doors) is

108 m2. Find its volume.

@sﬁamﬁmwﬁ%ﬂmé%aﬁ%lwﬁm 3m %lsaaﬁanaﬁaﬁ(%wm‘iaﬁwﬁammam

108 mZ%lmmmm%m f"‘)
(A) 125m? x“; (B) 256m? Q)
© 216m o (D) 225m? £
(E) Question not attemp{ed / aﬂﬁﬂﬁ aq v
 F
90 Fr=faRes o=t TTHPET A :,(3
a  wam b W ‘
c. VW d.  fadwor [
€. ﬂj i q o
13 g g et & & v g SO 52
A) Faa d 3 e E}‘. (B) Fad e AN a ;;;!
(C) Fada3iWb (D) Faedcdd H
® ogRagd. 1
91 Which of the folld“;ir_l.gdsn:ot a medicinal plant? , e
(A). Cor;.'homs cdpsularis (B) Ocimum sanctum "
(C) Emblica oﬁ_z‘cihalij - (D) Curcuma longa i‘%;;
(E) Question not attem’fffed .M
frferfaa & & w-aT aﬂqtﬂzr‘ﬁmqé’f *
(A) aﬁza?m%warﬁw «B)  fimaERm £+
; gl anﬁ;ﬁ?ﬂ%m (D) FFHTN v
(E)_ omEREIE iy ii’
92  Which ;;art. from ‘ashvag;i'élha’ plant is used to make medicines‘7
(A) Leaves. ‘()" Roots e
(C) Flowers : ' ‘ (D)  Shoots - @
(E)’ Question not attempted ¥}
‘mmﬁa%%gﬁ@mmﬁémmﬁ%gwmm%v R =)}
(A) dofei=r By S=iw {%;‘-
© g ©F =i )
® sgewwa vl
93  Natural rubber is a polyl?t?f of: - ps
(A) Ethene T ; (B)  Butadiene W
(C) Ethylene P (D)  Isoprene ()
(E)  Question not attempted g‘;;
WWW@WW 2
e By wRrEEy e
(A ol i) (D) A .
©) o o v
®) I o
A15] sk | [P.T.O,
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94 Choose the odd one out.

(A) Aggregate (B) Accumulate
(C) Congregate (D) Disperse
(E)  Question not attempted
o ot =5
(A) Hehferd (B) wfaser
(C) TEHAHET (D) foa-fra e
(B) ai@ws
95 There are five friends — Sachin, Kamal, Mohan, Arun and Ram. Sachin is shorter than Kamal, but taller than Ram.
Mohan is the tallest. Arun is a little shorter than Kamal and a little taller than Sachin.
‘Who is the second tallest?
(A) Kamal ®) Amn
(©) Ram (D)  Sachin
(E)  Question not attempted : ;
e St §- W, e, T, 31T S TH) G i whe Tee @ BT, WU & 99T 21 Wi o e T o /1 2760 #
e FHAA § M1 FA B i afm A dersmr
2 3 g R T <
o R ki T sy
(C) W (D) ufF= ‘;ﬁ’@ -
(E) Igaia s o] T CC
- 0
96 Some symbols are represented by letters as shown below:
S Wellehi i 7Rl gr i w @ S A e g
+l-Ix|+|=|>1<
B|[G|E|[Cc|D|AF , i & 3
Which of the following expression is most appropriate? \s7 S '7(% A X C,"(\'}
ot 8 i e e S sty oy 02 3 s 757
45T 15C5F8C4B6C3 1S+ S 2,1' " (B) 15ASESCA4B6E3 52!
(C) 15C15B8F 4B 6C2 = (D) 15B 5G 8B 4G 6F 3 T q
uestion not attempted / 3¥TWNA T . —
o Q\r"—\s—‘r% LOAg L i \;_\_5-—%—%‘—\“ QGL
97 The perimett;r ofa rétﬁ'ﬁg’le is 90 m. If its length'is twice its breadth, then its area is: 48T LA ¢
U S1Tad 1 9RETT 90 m B A THEY T <iverd & Tt Y, i e e & g 0-\ 9—"6
(A) 460 m’ 4By 420 m? \t\q’e—l;—"{ )
(C) 450m’ (D) 380 m? g+ 0 X 7/
(E)  Question not attempted / STTARd 71
98  The average monthly income of ‘A’ and ‘B’ is X 6,000, that of ‘B’ and ‘C” is T 5,500 and that of ‘A’ and ‘C’ is 3
5250. What is ‘A’’s monthly income?
A 3T B 1 afrea e 31 X 6,000 &, B 06 C Y sivem mives 31 T 5,500 o A 3R C i i mfvres o
F 5,250 8, 7 A 1 e A w e |
) 5750 ; (B) 6,200
© 6250 ) = (D) 6,450
(E)  Questionnot attempt® 20
a1s] S ‘

[ P.T.O-
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Which of the following is incorrectly matched?

99
(A) Plaster of Paris - CaSOy, % H,0 (B) Baking soda - NaHCO,
(C) Washing soda- Na,CO, (D)  Bleaching powder - CaO
(E)  Question not attempted ‘
frferRaa o & e et w7 82
(A) TR S A CaSO, 5 H,O (B) AT e NaHCO,
(C) TR EIET - Na,CO, D sefifei 9rSet-Ca0
(E) aid 9
100 Given below are t\.R;O. statements:
Statement (I) 1 ‘KARYA’ is a program of department of science and technology, government of Rajasthan.
Statement (II) : ‘KARYA’ aims to provide short term research opportunities to students of basic sciences at graduate
level only.
In light of the above statements, choose the most appropriate answer from the options given below:
(A) Statement (I) is correct but Statement (I1) is incorrect.
(B) Statement (I) is incorrect but Statement (II) is correct.
(C) Both Statement (I) and Statement (II) are correct.
(D) Both Statement (I) and Statement (1) are incorrect.
(E)  Question not attempted
fR A=A R
YT - 1 : FE(KARYA) forg et ST RTEhRT FRrsTmT, T SRR T T ST 21
wuT - 11 : S (KARYA)wmmm%ﬁﬁgﬁmﬁﬁaﬁ%aﬁmmm@aﬁmm%l
I oAl m@mﬁﬁmﬁ%{ﬁaﬁﬁaﬁq‘iﬁﬁwﬁaﬁmwgﬁ :
(&) o (1) St 2 Feg e (1) 7o 2 (B) WM (I) TTea & formg e (11) W&
ey () 3T (1) 3w (D)  F () R FA (1) T A &
(E) Agaia s
101  Given below are two statements:
Statement (I) : Gram is grown as “Rabi” crop in Rajasthan.
Statement (II) : Oilseeds are grown both in “Rabi” and “Kharif” seasons in Rajasthan.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Statement (I) is correct but Statement (II) is incorrect.
(B) Statement (1) is incorrect but Statement (1II) is correct.
(C) Both Statement (I) and Statement (II) are correct.
(D) Both Statement (I) and Statement (II) are incorrect.
(E) Question not attempted
45 21 99 fru T E: '
o7 (1) :amrrawﬁﬁ"tiﬁ”mﬁwam'm%l
e (11 ; Freret TroredT § e e FT s & s s #
mwﬁ%mﬁ,ﬁ%ﬁqmﬁﬂﬁﬁ@mmm;ﬁ,
(A) a'"“"‘”“"':’C'%"é‘%"—”'z'r"f':f(”)TW%' (B) T (1) 7ot R Afr e (1) | R
Ao s (i st (D 3 7 (D) = (1) it s (1) Qe e §) |
(E) FIA
21
Als) S [ P.T.O,
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102 Which of the following taxes is not levied and collected by the State Government of Rajasthan?
(A) Road/Vehicle Tax (B) Income Ta2’t
(C) Taxes on Agricultural Income (D) Taxeson [ai{tid and structure
(E)  Question Igaoiattempted . : E"a%: }
mﬁﬁaﬁymwmmmmamﬁﬁm 4;%?
(A) GgH/AERA (‘ﬂ (B) T . ’,
(©) i m upwT B e R
v
103  Which of the follBWing is not a salient feature of the Indian Constitution?
' A) Provision§'dllawn from various sources (B) Provision qit;::pual citizenship
(C)  Lengtheist written Constitution (D) Universal éxd?h Franchise
(E)  Question fiot-attempted N
Freferfm & & B st v 1 o wer Rt 20 &
(A) T wlt | for 1 srerem AB) 2l ieat R e
(B)  orafe ws "*5! S
o
104

. LYy
Which of the following statements is not correct about Sahariya tribe of joa_sthan?
(A)  The chief of the tribe is called Tapara. ¢

Led
(B)  They worship several Gods and Goddesses, but their main god is “Bg}gru Bharani”,
(C) The habitel;igjéf Sahariya is South-Eastern Rajasthan, that too limitéd'to. Shahabad and Kishanganj tehsils of
Baran dist{}!(}'!t. 0N
(D) They have ;égiotra” like Chauhan, Dodia etc: ?“E
. (B)  Question lzqtl attempted 1y
'

.ﬁw@@gﬁﬁﬁgﬁmmﬁmmﬁ%a&ﬁwqﬁ@ (R
L, AT T SES FhReEr iy quTeT s s

(B) . %ﬁﬁﬂ_ﬁwﬁﬁ@m%qﬁmmé&‘ﬁwm% fii
(©) Hmwﬁmqﬁw-qﬁnmmﬁ%aﬁragsﬁmﬁé%wﬁmm' Tt e
(D) sﬁaﬁam@%mmﬁéﬁ“’ﬁa”‘éﬁ% vy e &
® e, |

£y
. a3
¢4 [ ¥
105 Arrange the following States / UT of India in descend o thei
nge 0 0:' ng es ndia in descending order according tﬁ_tghe:r Population densny (Census 201 1)
a Kerala b wsst Bengal
c Delhi d filﬁar -
W % frefafed Tsai / S w2m 9y 201 1 ﬁm%aﬂwwmmﬁ%mwm wa
Aty Hifing ) - )
a. %IT.,. b tﬁ\?ﬁT Euirc
s feeefy —. G
Choose the most ep{zropriate answer from the optiong given below: ﬁ‘-i
ﬁﬁqqqﬁwﬁﬁ,ﬁmww\qmwﬂﬁ: pd
(A) cadb {4 | B) ad,b,c ”%
- |t
(C) a,d,c,b ¢ _! By ¢, d,b,a
(E) Question ﬂéﬂattempted / :ﬂﬂ'ﬂ'tﬂ a4
v : 22
Al15] sk | : ~ [PTO.
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106 Given below are two statements:
Statement (I) : Alluvial soils contain an adequate amount of Potassium, Phosphoric Acid and lime, which are ideal
for growth of sugarcane, paddy, wheat and other cereal and pulse crops.
Statement (II) : This soil contains enough quantity of Nitrogen.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Statement (I) is correct but Statement (II) is incorrect.
(B)* Statement (I) is incorrect but Statement (II) is correct.
(C)  Both Statement (1) and Statement (II) are correct.
(D)  Both Statement (I) and Statement (II) are incorrect.
(E)  Question not attempted
#r= v e g T €
U (1) = Sieite Tt o waty wm i diersr, wemifes uire o @ arr ST, sﬁw Y, ﬁzﬂmmaﬁrw
FHAT o IeaTa o foI 3rrest §)|
HuA (1) : 39 WE § vaie amr 3 Tgee arf s )
ST e o AT 7, T faw mu Rrepedt # & waifares sugew sacH|

C(A) A (1) WS S (1) e 2 (B) ¥ (I) ToId & Q3 o (IT) Wl 2

Oy A () AT (1) 2T e & (D) e (T) 3R A (1) SHT T &

(E) ga@wA ,
107 Who was known as * Frontier Gandhi’?

(A) Khan Abdul Gaffar Khan : (B) Mohd. Rasooq
(C) Mahatma Gandhi (D) Sardar Patel
(E)  Question not attempted .
i et & AT F foRd ST STTaT om?

’Qr) @M 3Tege THRR @H ‘ (B) TIEWE WH
(C) HeTerm mreft (D) TER 9
E) TR IH |

108 The Khilafat movement was led by - :
(A) Bal Gangadhar Tilak and Vipin Chandra Pal (B)  Mabharaja Hari Singh and Shaukat Alj

(C) Mahatma Gandhi and Khan Abdul Gaffar_ Khan (D) Mohammad Ali and Shaukat Alj
(E) Question not attempted

Wmmﬁﬁmmﬁmww

42 mmmzﬁaﬂxmmwaﬂ (D) WAIEwE 7l o T areht
(E) aﬂ'ﬁf{ﬁ‘/’fﬂ'

109 The famous speech addressed by the first Prime Minister of India Jawaharla| Nehru at the hour of migj
August 1947, is known as: (Choose the most appropriate option from below)
(A)  Tryst with Destiny (B)  Hope for the better future
(C) Wings of Challenges (D) Independent India

(E)  Question not attempted N 4
ST 3 WA WU T SreTet are T 1 611947 l4—15mﬁmﬁmmmmﬁmwﬂm

nght on 14-15

S 22 (Fr & el 9 e 3) )
(A) fo fag et (B) E\W‘mﬁmm{m
(c) fama @i S By et sy
(E) raitay4
A15] [P.T.0.
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R d 20 km, th
Y10 Ranjan travelled 15 km northward, then turned right and travelled 10 km, then turned left arid travelle en
turned left and travelled 10 km. How far was Ranjan from the starting point?s..
(A) 35km g‘“ " (B)  45km { Q
(€) 30km - (D) 25km (4
(E) Questlon n0€ ahempted ”h o) aTef
o IR AR 15 T, I I R % g 10 Feeft s, w%mqmjaﬁtﬁsﬁ 1’3?5-5‘?4-—
wg@ﬂlo%ﬂﬁwwnmmm%@%ﬁmﬁ?ww v 16t
L&y 3sheRt T ®) 4sfeft
© sofeh M § | @) 2s5fmlt | >3
(E) mgﬁﬁaw ' |
I ,{11 A group of girls stﬁas In a single line. One girl is nineteenth in order from h%qrp the ends. How many girls are there
| in the class? nied
' Y, o
| mﬁwwmﬁ%mﬁ@a%mﬁﬁmﬁﬁ@m19§mﬁ@é%|%@ﬁ§aﬁmﬁm§?
(A) 35 By 37 i - ‘:
(C) 40 g (D) 38 X N W C
(E)  Question nogg;ctempted / 311?&?[3[’5 1 f.i \L
112 Where is the princi“p"'éii seat of Rajasthan High Court located? 4 PSS\\\'\
(A) Kota (B)  Jodhpur ;
(©  Bamer i (D)  Ajmer g
(E)  Question not t attempted W
wmw?ﬁq@?ﬁz(&ﬁmﬁm)mﬁa%ﬁ {7
(A we &5 &) g h
©)  =mei N ©) s
(E) gaRaws _ e
r*“) . Ly
113 Who was the State Election Commissioner of Rajasthan during 20239 =
(A) Madukar Gupta (B)  Amar Singh Rathor
(C) NR. Bhasm (D)  Inderjit Khani)a'
(E)  Question noi attempted L
a&zozz,trmfwn%:trwwmaﬁ:rﬁv Pt
AR TYFCTH ;1 (B) 31t fife w5
(C) TR wE oy (D) g e
(E) aﬁ?{ﬁﬁﬁﬂ o w
Ty . L
114 FdrFm fwmd gl
HUA-1: mmﬁmmmaﬁﬁ#ﬁ@m mmmﬁqu@%augmgl
FUA - 11 : T (ATl 1 e o O g B o 3 fore e e O T Sy
mm%mﬂﬁﬂ%ﬁgﬁﬁmﬁﬁmmmﬂ% Wy -
(A) T o 2 g 7 11 ome 8| (B)  =hert 1 378 3 Ry apepy
(C) e | S LG T &) (D) Wlaﬂnléﬁimgl HORS
(E)  3A7aftd 94 ¢4 : !
1= p
115 3T’ &1 aqmE faye erm- - _ “}
Ay SR HZEEA (B) ez dtame Y
(C) TR (D) 3rie ST
() SarduZ
24
A15] sk

[ P.T.O.
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116 fr=fafaa 7@ fom et 7 wfe v 71 e

117

118

119

A15]

a. 9@3’»__ h b. SRﬁ"T
c. WER F\‘ _ d. g_@ir( -
€. &1 y .o Ws
ﬁmmﬁa@wmmwgﬁ M
(A) FHacia, bR 5 (B) ad b, c 3N d- (W}
©) Factc, d 3 e &\ (Dk_aﬁa’ a,dae QY
(E) oTaia ¥ - ' i
“ ) §~”
Bifocal lens is used to correct the defect of: (Choose the most appropriate option from bglow)
(A) Cataract (B) Hypermetropia i
(C) Myopia ™ (D) Presbyopia i :f}

(E)  Question not attempted ]

mmwmﬁmﬁéﬁammﬁam%m ﬁmm%ﬁﬁmﬂﬁwﬁmﬁm )
(A) @R E%! (B) ETEIWHINET & d
© FTeegfEan ‘ (D)  SRI-ggfaT A (T )]

(E) 3gaia s :: ‘ : i)
’ i

The adult human dental formula is: N
T WA §d A & ™ 5,«3
2123 ‘fj & 2213 3

(A) {v) — i,
31t ) ] 1o R ?Q

© 2112 &N | @) 2122 é
(E) Question not attemptedé aﬂﬁ'ﬁﬁ adq ;::3
T %»"%

Given below are two statements:

ood transfusion is a method in which blood or blood products are traargfened from the circulatory

Statement (I): Bl

system of one person to another . ¥e

Statement (1I): The first blood transfus:on was carried out by Karl Landsteiner. N

In light of the above statements choose the most appropriate answer from the options/given below:
atement (II) is false. Ol

Statement (1) is tru€ but t
o t (ID) is true. ot

(B) Statement (D) is false buti Statemen -
(&) Both Statement (I) and] %tatemcnt (1I) are true. Ty

(D) Both Statement (1) and Statement (II) are false. i

(E) Ques{tzi;r;:rc; attcmpted Ehﬂ

WETEF'J:T e

FaTl: WW@WW) Wﬁf%w@mﬁﬁ@aﬁaﬁﬁ%maﬁm — -
Eiuigd : . mi il BElIG]
Fad fercoT T FRUERIMCIRY =

I1: WE'.E’ITWHERUT ol ;

vqﬂ'?FEmﬁé‘ﬁWﬁ Wﬂﬁwffaa‘?wgmmgﬁ i

A la"“”)ﬂ?fﬁ?ﬂtmm%' ) W(Dm%%m(u)wa

(2) (J)W?ﬂ(ll)ﬂm?' (D) W (1) okt e (1) ST 9T &

(C)

z 4
(E) dﬂﬂﬁ"' a e
4 [ P.T.O.
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120  ‘Rane Jagpat Ra Marasya’ was written to mourn the death of which ruler?
(A) Maharaja Jeevan Singh (B)  Maharaja Jaideep Singh
(C)  Maharaja Janak Singh (D)  Maharaja Jagat Singh
(E)  Question not attempted
T SR T A e e 6 e 6w 5 R Rt mit s
(A) WERT Siaq Rig (B)  wenSn 974 fig
(C) WEWST S e , (D) eI S fie
(E) FgaRawx |
121  Which statements regarding Kuchamani Khayal arc correct?
a, Kuchamani Khayal was started by the famous folk dramatist Lachhi Ram.
b. Chand Nilgiri, Rao Ridamal and Meera Mangal are the main khayals created by Lachhi Ram.
c. Kuchamani Khayal is not performed in an open theatre.
d. In this Khayal, players of Dhol, Sarangi, Clarinet and Dholak are the main accompanists.
Choose the most appropriate answer from the options given below: ,
(A) ' a,b, and c only (B)  a,bandd only
(C) b,canddonly (D) a,canddonly
(ES Question not attempted
T T F R T S e
a.  FEE ST SIS T I st U g I R T am
b, iR, e feme sl i s, st T gw e v e #
. FEM BT Tk Heh Areanar (Rreew) # Frearfa 78 fear s 21
d T d i, e, e 39K Siereh aes T wedntt 2 #)
e R e fareedt & wraffires g s : :
() Faea, baiRc (B) dda,badgr
(©) %ﬁabzcaﬁtd,( (D) A a,c3iNd g
(E) 3raRa 5™
122

Which fair was started by Ka-chhwaha’s to cherish their victory over Chandra Meena?

(A) Khalkani Mata Donkey fair (B)  Diggi Kalyan ji fair
(C) Bhartrhan fair

(E)  Question not attempted

(D)  Pushkar fair

=5 wftom ot e 1 IeEa A & fou el q @A de gy fora
(A) TEFv AT S He

Wy feuft o sf deyy
(C) e #etr (D) Rt A
(E) wafagd

123 The Western Ghats are known as *Sahyadri’ in which state?
(A)  Tamil Nadu
(C) Karnataka
(E)  Question not attempted ) i
aferdt avel @1 fopm tea HETE" & A @ ST ST 20
W (13) hited

(C) FACH

(B) Kerala
(D)  Maharashtra

(D) W

(B) Fgafa s

A15] k&

26 | P T.0-
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which of the following statements is not correct about the Gondwana Coal? ' s
A It is mainly peat and lignite type of coal. 10
(B) Raniganj, Jharia, Tata Pf‘m and Himgiri are some of the important coal mines of é‘(;;ldwana formation.
(c) The Gondwana coal belong to the carboniferous period. A3
(D) Itis found in Damodar, Mahanadi, Godavari and Narmada valley. £ “.I
(E) Question not attempted {t rj]

reaET e ST E T # A A e e T L)
(A) TETEAT: Eﬁzaﬁt%mszma;raﬁw%| i .
(B) i, s, T ST fenfr, Tﬁsamwmsﬁgmmm@ﬁ% .
(€) rﬁmmwﬁﬁmméwﬁaél | j:;;:
(D) T TR, W, Y Tiierert 3R T ST § qrr S 21 ot
() uRd 9 s ‘/)v
The first Vice Chairman of NI ”EI‘i i&YOG was . £
(A) Nandan Nilekani E} (B)  Arvind Panagariya i
() Narendra Modi o (D)  Arun Jaitley Ty
(E)  Question not attemptedix . i
iy STTENT I TH AT FHI B
(A) e Freroft ol srefig P
©) T L (D)  3FeoTSieedt 30

v

(E) mgalia EE] 4

et was merged with the Union Budget"

In which of the following budget year the Railway Budg
ﬁﬁ%ﬁﬁﬁ%%&maﬁﬁﬁ%m oz e 3 e § e foR T 2 &
(A) 2017-18 3} (B) 2018-19 T_"f
(D) 2016-17 " 4
& 2015-16 &y o -

(E) Question not attempted l,

127  The rate at which Reserve Banlc of India lends money to commercial banks is called T
(A) SLR 1 (B) Repo Rate L0
(©) CRR - (D) Reverse Repo Rate 1
(E)  Question not attemptedf : T
: :mTtéaT% L) o
ﬁﬁa(qqmﬁwﬁa‘of }?ﬁmaﬁ@w Sl e &l £n]
(A) TH T AR £Vl g
(C) i 3. AR (Ae ‘:“* ®) e Ty
(E) waid¥d e o
it is estimated to remain £ GDP in 2024-2
128 As 24-25, thc ﬁscal deficit 1s €S ' LT in 25,
per the Budget 20 et ¥ 2024-25 & Tehet e I .
T2 2024-25 ﬁm@ﬂ‘oﬁmmf @ 49% W—;}@Eﬂﬂgﬂﬁ%l
(A) 5.8% 9% \ S
©  5.1% p )y 3.5% M
(E)  Question not attemPth{ ' ‘vi} f
han? R
129 Which of the following ar¢ ¢ CBsh crops of Rajasthan? " 3
(A)  Bajra and Coriander v (D) Barley and oil seeds L
(C)  Cotton and TobaccO (%) ) Wheat and Rice T'i
(E) Qucsllon not atlemp‘bd {F'T A A 82
Frtfefiaa 1 @ o @ T4 .
ATy 2 afadn 71 D] ;’laﬁ( foerea
C) Fum wn ddrd (D) Mg 3 wrae
(E)  wrgafta a4
o [ P.T.O,
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130 Indira Gandhi Canal ends in which of the following districts of Rajasthan? AHE LR UL
(A) Bharatpur (B)  Udaipur
(C)  Jodhpur (D)  Jaisalmer
(E)  Question not attempted
gfear it e Frferiaa # @ vorae & e R & v St 22
(A) W@E g (B) 3Sqaq
(€ g B
(B) “orgaRaws ;
131 Which city is known as ‘Food Basket of Rajasthan’?
(A) Bikaner (B) Ajmer
(C) Alwar (D)  Sri Ganganagar
(E) Question not attempted
Forar Tt ot Tror e S % v i S 29
(A) s (B) IR
©) A= D AR
(B) S
132 Pradhan Mantri Krishi Sinchaiyee Yojana (PMKSY) was implemented in Rajasthan from the year
ST & et w4t Y R wivere (dromdiogan) IR TE o
(ﬁv)’ 2019-20 : (B) 2020-21
{5 2015-16 (D) 2017-18
(E)  Question not attempted / SATARET Wy ;
133 Which of the following statements is not correct about the Darjeeling and Sikkim Himalayas?
(A)  They are flanked by Nepal Himalayas in the West and Bhutan Himalayas in the East.
(B)  The higher reaches of this region are inhabited by Monpa.. — \C/
(C) Itisaregion of high mountains peaks. . , W\(’
(D)  This region has well distributed rainfal] throughout the years,
(E)  Question not attempted ) 'Y\)X
mﬁnwﬁmm%ﬁﬁﬁnﬁ%#wwwqﬁﬁ ‘ ‘XS
(A) ﬁﬁwﬁmmmqﬁﬁwmﬁﬁ%%
(B) 39 &F & 3= T W AT 7 g 3
4€) I Ie9 yaa fredi w1 e R :
(D) 3@ aEH ¥ v aul 3=t yem § fafa 2|
(E) i@
134 Duduma waterfall is located in which of the following state?
(A)  Jharkahand (B) Odisha
(C) West Bengal (D)  Andhra Pradesh
(E) Question not attempted
Forer 4 & forr e g St fer &7
(A) wRES (B) onfem
or aimeTe (D) iy WA
(B) vt s
A15] &

[ P.T.O.
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135 Name the left bank tributary of the Brahmaputra River?
(A) Burhi Dihing

(B) Sankosh
(C)  Subansiri (D)  Kameng
(E)  Question not attempted
SYA T & A T2 Y AT T A STy -
A TARFE (B) E&m
© g=d (D> T
-(E) Irgaiawy

136 In 1859,

‘Relief of Lucknow’ painting was painted by
(A) Oubam

(B) Havelock
(C) Thomas Jones Barker

(D) Campbell.
(E)  Question not attempted

Toras T 1859 ®, “frefies o

(A) 3w (B) Raciw
Oy o S s (D) Fgare
(E) gaiaws
137 The University Education Commission was set-up in the year under the Chairmanship of Dr. S.
<1, TH. e At stemera  Ryafrerer fre s T B and i 8
(A) 1951 ' ) i 4By 1953
©) 1947 (D) 1948
“(E)  Question not attempted / ITAafa w1
138 Given béllow are two state;rlents;
Statement (I) : I\:'Iost of the rulefs o'fthe princely states after Independence of India Wwere averse to join the Constituent
Assembly. ‘ .
Statement (II) : This response of rulers of the princely states meant that after independence there Was a very rea]
possibility that India would get further divided into a number of smal| countries,
In light of the above statements, choose the most appropriate answer from the options given below:
(A) Statement (1) is correct but Statement (II) is -incorrect.
(B)  Statement (I) is incorrect but Statement (II) is correct.
() Both Statement (I) and Statement (II) are correct.
(D)  Both Statement (I) and Statement (II) are incorrect.
(E)  Question not attempted
x(ﬁﬁgiﬁm%mm%#ﬂf;ﬁm%m“ﬁﬁ%%% N
T (1) : T TSl A T WWW&?W » W@WWmﬁmmﬁfﬁ%ésﬁaazm,
SR et 3 T §, 3 fav g fereret A SUGH I G
(A) = (1) W S e (1) e 8 (l;) W(I)W_éaﬁmw(nmﬂ;l
© A (1) 3 e (11) 261 adl 8 (D) 9 (1) 3N s (11 i e rera )
(E) wrgaf@wd -
Als] sk

[ P.T.O.
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(A) wHEAY
(© === amtr’r?nﬁj%l
(E) SIguRawy sz;
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B) T et 2 P "
By wa ETl o T

(M
5 5
140 3fuT ST WETH?L}TYE%‘? 0
(A) ﬁmﬁaﬁm‘_l @ TR TR i
(C) «r@ra T4
Iy (D) feawwgEm
(B) oquRass 1
141 Which of the followigg!wor(%s will come second in the English dictionary? | P TR
3SRyt 3 QS W Y75 GO T R S o
(A) Matemnal " (B) Magnify {:“‘3
(E)  Question not attempted / SRR W - o
v ™ B
142 What will come in plgg% of ‘2’ G -
‘?‘%W—Twﬂqm%m i Co - L‘{__}\—l/(
60, 45,32, 21, 2 \‘;) 3
a) 14 . °
> ® 1 :
© 16 ) . A0
(E)  Question not attempted / ITFaRa W A e
5 60 4T 3 2R\

143.  What will come in placg of *?°

£2* 3 T YT AT T2

O |-

e

& Tos

AT

- O-0O
(e '
5 L
%
(%
\%Z

O o
(A) i

o —O— 1

; LE
® O ™
(E)  Question not attempted / 73R way

(B)

™ P
144 Which of the followlng districts of Rajasthan is famous : )
, for the h M
thestaic ﬁ:’ e Hehes produgl?n of wheat i,
- @ Bud 9 (B) Kot &) d et
- © Sri_Ganganag:ﬁ' N (D)  Jaisalmer ‘\é
(E)  Question not a’(ﬁ?‘mptcd : 4
mﬁ%ﬁnﬁﬁaﬁﬁlﬁwﬁzozz-zsﬁmﬁﬁ{%mm%ﬁw 0 .
a) & ' ®) @ 857
@ R (D) R
(E) AaRays
A15] 30
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145 Which among the following is not an A

(A) Iron and Stee] Industry gro based Indust?lr3 ;n theC Zt::te c;'i':éj:sthan? ,

(C) Dal Mills on Industry

(E)  Question not attempted : , (D)  Rice Mills Ll‘e NDC(D
)k)/[“ ”?ﬁg”:m;-(mi "”%mli\@ﬂﬁaaﬁ?m@wammmqﬁ%? @0(0 %?f

(©) e first B) e s - 'A \4°\ Ao

(B)  orwia s iy @) - SE A —Ta?”

146 Which of the following is not a web browser? w5l y ] ,
(A) Opera . Fic

(C)  Mozilla Firefox E[B))) (53;::: .
(E)  Question not attempted

frefafaa # @ a9 e i

(A) S ABY SEw

(©)  wifsten wratETEg ‘ (D) wFEd

(E) fgafia wsr '

: ('; i , :
147 For the sentence given, choose the most approprmte answer m the passwe voice from the' optlons below:
My sister baked a cake.

(A) A cake was baked by my sister. . L) _ ,
(B) A cake was being baked by my sister. (

(C) A cake had been baked by my sister.

( A cake is being baked by my sister.

(E)  Question not attempted ,

148 Complete the given sentence choosing the most appropriate word ffom the optlons below:

My brother is in the Indian Foreign Serv1ces and can speak many lapguages Heis a
—_— = =

(A)  Philatelist (g)_ Linguist
(C) Pessimist' « * * ()‘ Polyglot

(E)  Question not attempted ‘ % g

149 Complete the given sentence choosing the most approprmte word from the options below:
She remarked thatshe annoyed with him ro(r his lack of sympathy for the victim,
7 - - (B)  feel ‘ —
Ay feelmgp( o o ™
©  will feel i
(E)  Question not attempted ‘
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159 In the sentence given, replace the underlined words, choosing the most suitqpye idiom from the Options
, 8 elow-
, piven areasof: ‘ .
B s W (B)  outand oyt

(A)  at odds and ends i - g
o (UB— for 0o rhyme qr reason

(©)  over and above

(E)  Question not attempted

AISI % . ' 5" 3] :n:

: [ P'T-O,

IS 4 SV LTV s T





